	Name _____________________________ 
	
	
	Date ___________________ 


Solve and then find the equation and answer in the word search.
Sample 
This is only a sample pre-made worksheet. Sign up now!
	1.  

	17 - 1 = 




	
	2.  

19 - 13 = 



	3.  

15 - 11 = 




	4.  

19 - 9 = 



	5.  

5 - 2 = 



	6.  

12 - 4 = 




	7.  

3 - 1 = 



	8.  

12 - 1 = 



	9.  

16 - 15 = 




	10.  

17 - 3 = 



	11.  

18 - 16 = 



	12.  

17 - 15 = 




	13.  

20 - 1 = 



	14.  

17 - 14 = 



	15.  

10 - 7 = 




	16.  

19 - 11 = 



	17.  

16 - 4 = 



	18.  

19 - 10 = 




	19.  

17 - 10 = 



	20.  

13 - 8 = 



	21.  

13 - 4 = 




	22.  

18 - 14 = 



	23.  

15 - 14 = 



	24.  

11 - 4 = 





 

	Name _____________________________ 
	
	[image: image1.png]



	Date ___________________ 



Find the equations, from the previous page, in the number word search.
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